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Heat Absorbed (Cool Side)

1.1. 2t ofjof s
= AI|A, A, 2HC]0j|0]ES
= QWBHHLAl - LHOj7H 7| S 2D B7|S B0 Qi HPAl S p—
= CHY i), 0|2, 210], 42 EN, 0[N 2, 2IE VAR
= A AH| A ys LHE 58 Ry s

1.2. Peltier 23} (234
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1.3. GHAo| A2

. [PI=IN]=[P]-[N]-[P]-[N]-... 84 12774 Al
A5t 2| F0l|l= MEHY (ZAF7]) AR
35 (40x40x4 mm), S (Small, £&37)

=42t (V, Volt) : 12V (ZIcH 15.5v), 24V

=242 (I, Ampere): 6 ~ 15 Amp

= A M8 (W, Watt) : 12V x 15Amp =180 W

(W=1xV, Power - #=7t2| 3!)

# 27| 2% (E, Energy) =W x H (hour)
- 3I-A|7|-EO|-A|._9_%I- AQl= 117|o| iE-F

#QI4HM 4 Cell I = 12~14.6V (2 33 3.2V, 474 21E 1 12.8v)
# Q142 600AH = 12.8 V A (E3) x 600 Amp x TA|ZH
#

(f2]) A0|Z= gl (W=1xV V=IxR)
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1: 2k Style
127 : A2} M4
10: 42



60~65C

AR (42 2 (T0)

:=10C
:=20C

(1) Th:50C==Tc
(2) Th:40C=> Tc
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1.5 488 TEM : Model TEC1-12715 (£H] 180W) 44 Z&

=B 0 M2 25C (77F) - 5F5t 23C(74F) = B 24C ———
Performance Curves at Th=50 °C

175

140

=
= OZH ALY 2. : 34C 2 743 (-10C Z3}) S
- ThiS0C7HY (BEAE+dnlrgeuy - 3us 4s) |
= Tc @ 23C (Dt=27C) --) 109W 422 (B)

= Tc @ 25C (Dt=25C) --) 115W 44t23 (G) °

= gz YW= 1 113 Watt (COP 0.63)
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1.6. 44t 27+ A= (Toyota Sienna 7|%) . 1.7.'3HH0|" ofjoj 2=
= Sty s = EEYFEURE:24C
- EURAHE WA BYSRA USSR FL 1 mmuwEe 113 Wan
- AE 2 EHA 3.4m2 x &0| 90cm (30cm = 1 foot) - 34CAILY2E : 73 Watt &

C
M of|Lt HHrZ2E 37 SFTx 3FT =111 CFT ... 100 CFT 0C AILILE : 45 Watt &
H

=30
- AILHRE ¢ 2% ~ Z|C 77F) : 24C
MU : 2|A 23C (74F) ~ 2|t 25C (77F) - Rt ezl et AC
= A Q HHIZF (Consumer Reort E=0F) ... -10C '&A| SQAZITIE + WHIES 4
- 20 BTU (1 SQF x 8 FT =8 CFT)7} 22 D - xa oF 5 A AIE0|07
= Sienna ("FHO[") Y 228 : o AUy %*E'J% Ar8otH &
- 100 CFT / 8 CFT (2.4m) x 20 BTU = 250 BTU . B3N
- 1Wdg=3 = 3.41BTU - =W EHS ol Yot Fan

- 250 BTU / 3.41 =73 Watt 9| '4t7| 22{0| 2L



8. "SHHO|" 0|01 2| U HYE{2| AR

HWHRR T 1 23C ~ 25C, &Y 24C
7| 7|SA| Z[CHARHH =15A%x 12V =180W
ZEHOHACZ M REE L A HZ2 T AR
A 2HAl 23 (50% Runtime) ... 0.5

- 23C ~ 25C 1 7H (2EA|017]) .. A|ZH42t Runtime §
= 24N SHA ARMH =180 W x 0.5=90 W (%7 AH)
=24 8A|ZHAIEZF =7 AH x 8 = 2F 60 AH (8A|ZH, F414])
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1.9. o933 820 100AH ! Z ¢

CASE [1] FYSE27|0 U= 29 - 14 AWA|  CASE [2] FBZE27[+Solar - 14 ABA
- 3| BHEAEIR 7Y (13 100AH) T EHA YRR Y (@ 100AH)
AT (14AZHHIES) = 14X 6Ampx 0.5 - XA S2HE = 14412t x 4 Amp = 60AH
= 42 AH - WA = 14x6Ampx 0.5 = 42 AH
~ '3Hu0| 0f|0§74 = 6 A|ZHx 7 AH = 42 AH - '3H0| 0f|01Z4 = 8 A|Ztx 7 AH = 56 AH
~ IfH Z2F: 100 - 42 - 42 = 16 AH - I 242§ : 100 - 42 -56 + 60 = 62 AH
# HR D H|REH 14A|ZH+ 0|07 6A| 2t + 7|E} # 16k 8A|ZHOf|O{ 0] = LS Ak
LED 53} 07ke] e E2 AG5 3 T2

# 281 3MA| = 7S (&2t ST [h2t)



1.10. 'EEHHO|'0| O} 2 7| AD2F 1.11. 'seH0|'9| mJul 3 (320+280+320 AH)
= AC (8AIZH =7 AHx 8 =56 AH =52} glg, £37] (20+30A), 3t 55A
= HA (24A2H) =6 AHx 24x0.6 =72 AH = U B 3A1ZH A = 3x 50A = 150AH
= L E8 (6AI2H) =2.5AHX6=15AH = Before (153AH) ... i7E U= S 74|
=8 (12 13]) =18 AH = After (209 AH) .. 02 50-60AH 2tz
= 22| :700 W x 15& x 28] = 30 AH (PB#3=A/CHE . SYAIE /oM, F3H)
= 70| : 600 W x 42 x 38| = 50A x 122 = 10 AH (Gas Oven #AtZ 27| &)
=7|E}: LEDS, M387|,USB &% 55 =8 AH

Before (153 AH) =) After (209 AH) 020AH 'E=H0|' = BEXMO & 4-52 L 2| ajtt

T TO=——




